


Normalized Wave Functions for Hydrogen Atom  
s orbitals 

Quantum numbers 
n ℓ mℓ 
 
1 0 0   
 
 
2 0 0   
 
 
3 0 0 
 
 
Radial Wave Functions R(r) for Hydrogen Atom 
 
Quantum numbers 
n ℓ  R(r) 
 
1 0   
 
 
2 0   
 
 
3 0  
 
 
Angular Wave Functions ΘΦ(Өφ) for Hydrogen Atom 
 
Quantum numbers 
ℓ mℓ 
 
0 0   
 
 
 
 
 
 
 
 
 
a0 = (4 π ε0 ħ n2) / (me e2 Z) 
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Normalized Wave Functions for Hydrogen Atom  
p orbitals 

Quantum numbers 
n ℓ mℓ 
 
2 1 0   
 
 
2 1 ±1   
 
 
3 1 0   
 
 
3 1 ±1   
 
 
 
Radial Wave Functions R(r) for Hydrogen Atom 
 
Quantum numbers 
n ℓ  R(r) 
 
2 1   
 
 
3 1  
 
 
Angular Wave Functions ΘΦ(Өφ) for Hydrogen Atom 
 
Quantum numbers 
ℓ mℓ 
 
1 0   
 
 
 ±1   
  
 
 
 
 
 
a0 = (4 π ε0 ħ n2) / (me e2 Z) 
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Normalized Wave Functions for Hydrogen Atom  
d orbitals 

Quantum numbers 
n ℓ mℓ 
 
3 2 0   
 
 
3 2 ±1   
 
 
3 2 ±2   
 
 
Radial Wave Functions R(r) for Hydrogen Atom 
 
Quantum numbers 
n ℓ  R(r) 
 
3 2   
 
 
Angular Wave Functions ΘΦ(Өφ) for Hydrogen Atom 
 
Quantum numbers 
ℓ mℓ 
 
2 0   
 
 
 ±1   
 
   
 ±2   
 
 
a0 = (4 π ε0 ħ n2) / (me e2 Z) 
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